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Britti Examination

A point object is kept at S before a convex lens as shown in the figure. F and F’ ar¢’'two foci on
two sides of the lens. The image of this object formed by the lens will be -

oA ™ WHOT 0 IF S TIZMA IH0 B8 (I NN AN FA1
AR TR 76 CFIBAT F G12 F BRI NS Z0I0R | @71 711 (RS AfS[{=fE -

(a) will be on the same side of the lens as that of the object and the distance of the image from

the principal axis of the lens is less than the distance.of the object from the principal axis of

the lens. (FTCSTE (AMTP I TR CIMTF A2 (TS T O (AP ATSR{CIL 18]
(eTCAT 3T O3 (TP I/ URS (Y0P P RAS |

(b) will be on the side opposite to the objeetin respect to the lens and the distance of the image
from the principal axis of the lenS is greater than the distance of the object from the

principal axis of the lens.
@R AMF W WLR O [AMS A 72 (T0H T O (AF AFORER
TR (CT0SE ol O (TP IBF GA099 (AP (@R R0 |

(c) will be on the same side of the lens as that of the object and the distance of the image from

the principakaxis of the lens is greater than the distance of the object from the principal axis

of the lens.
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(d) will be on the side opposite to the object in respect to the lens and the distance of the image

from the principal axis of the lens is less than the distance of the object from the principal

axis of the lens.
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Figure 1

Three filament bulbs (B}, B, and B3) aresconnected with a cell as shown in figure 1 and
figure 2. In figure 1, the bulb B; doés not glow, and B, glows brighter than B,. Choose
from the options below, the correct order of brightness in which the bulbs glow in

figure 2.

Bi, B, 433 B; (G PTG I figure 1 8 figure 247 NCOT H ARG
10 OGS THT I S T | Figure 1 4 By I G I, A< B, I9 B, I A7
BIRT® ([ 05 ©Id GellR | Figure 2 (9 & e SCe(and [RONF (P
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a) B;>B;>B;

b) B; > B, ; B; does not glow.
B >B,;B;j WT‘H [

c) B> B ; B3 does not glow.
B, >B; ;B; @jﬁﬁ'?ﬂ |

d) B, >B; > B;



3. The forces of gravitational attraction between two masses measured under different
conditions are stated below:

A. On the earth in a classroom and the masses are separated by a distance d, the force is F .

B. On the earth but under water and the masses are separated by a distance 2d, the force is Fp,

C. On the surface of the moon and the masses are separated by a distance d/6, the force is Fc.

Then, chose the correct option.

ISR ARI 7D SIT N0 W THFIT WFHT I N Srafde:
A SIS TRF® G0 (ANFEF O 0 d AT ([0 VRSN I =67 Fy |
B. *fA]ITS Gl [0d ©F 0 2d TATY (F0Y VST AHH I =4 Fy |
C. BTV 71 {6 ©F d/6 TATY (A0Y VST AFHY IF2A F |

OIR(E, OB BBAT (AR VS

(a) Fa= Fg= F¢ (b) Fo = Fg and béth greater than Fc
(C) Fc>(FA+FB) (d) FA:FC and FB<FA



4. A piece of stone is thrown vertically upwards from the ground. Variation of different
physical quantities associated with the motion (velocity v, height h, potential energy PE
and force F) of the piece of stone have been plotted against time (t) in the following

graphs. Among these identify the incorrect one.
P (A(F TATOIF B0 NAIT GFEANS BNIT A (BTl =4 | ©IF 51
o7 AR FoF wfd (orodif*ig (91feTI91 v, Bl h, Rfe*f& PE 432 I69°F)
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5. The atomic number of three elements A, B and C are Z+2, Z and Z-1 respectively. The

element B belongs to the group 18 of periodic table. Identify the correct statement about

the elements from those given below.

fONIG (N A, B 8 C A9 AWK FNE TAERCN 2+2, Z 8 Z-1 | B G5 *rRfrasafag
J 18- & | N (I [T 5 w1 el e

a) The first ionisation energy of B is minimum, the chloride of A is an ionic compound.

B (W67 AT WMANGIN & TGN, A I (FIA2G JH6 ST |

b) The first ionisation energy of B is maximum, the chloride of A is a covalent

compound.

B CIA6A AN WINToI & A&, A 97 (FRIRG SHI0 STNCIGT 9 |

c) C has the least electronegativity, A is strongly reducing.

C (VA6 68 ANIFO! PAON, A (N6 Ol SFCTIVLT |
d. C has the greatest electronegativity, A is strongly reduging.

C (NA6F OGS Aol STAEH, A (NS0 O [RGTI0s |

6. Some chemical reactions are given in column A and some observations are given in

column B. Which of the following commbination is the most appropriate to match the

chemical reactions of column A with observations in column B?

PO IS RIFT A B ¢ FoF *RT=FT B B8 (ST ™Y |
A BTEF IPTIS RAGFAF T B BIEF AN AN GFG NCHS (FN

ST TAFY2

A

B

I. FeSOx+ H,SO4 + HNO; >

I. White precipitate forms.
ST TR O N F(H |

. CuSO4 + NH4OH(not in excess/
VI ICIR R IR ) >

II. A gas is evolved that burns with a blue flame.

G310 57T f9fS =T 1 [ieT v o3 |

I1. Pb(NO;), + dil./ T HCI >

III. Bluish white precipitate forms.
TS AT ST B AN FH |

IV. Al + NaOH + H,0 (heat/ ©T%)>

IV. Brown compound is formed

AT S BT =T |




a) AI-BII, AII-BIII, AIII-BIV, AIV-BI
b) AI-BI, AII-BIV, AIII-BIII, AIV-BII

c) AI-BIV, AII-BIII, AIII-BI, AIV-BII
d) AI-BIV, AII-BII, AIII-BI, AIV-BI

. Which of the following would weigh the least?
RRAROYER T (FHOT ST STICHTT FN 2

[Atomic weight ("ﬂ?ﬁﬂ% 8&N): Ag =108, N =14, 0 =16, C=12]

(a) 2g atoms of nitrogen.

2 ST AW NT2CHICOH |

(b) 1 mole of silver.
1 (N1 S{eTword |

(c) 22.4 L of oxygen gas at 1 atmosphere pressure and 273K temperature.

1 AIYNY B9 8 273K SLOT 22 4 fA61F AHTG 19157 |
(d) 6.023 X 10?® atoms of Carbon.
6.023 X 10% 5 L AN

. Two isomeric liquids A and“B have the molecular formula C4H;¢O. A is more soluble in
water than B. A liberates hydrogen gas in reaction with metallic sodium, but B does not
react with metallic* sodium. The molecule of B is symmetric while all the carbon-

hydrogen bonds in a molecule of A are equivalent. A and B are respectively—

A 8 B TG WIRATNI{E SAETT WA{IF FTFS C4H;00 | A, B SCNSHT G (I
AL Groq TGN S A [fFT F@ 3GNE IT$ 34, 8 B 497
TGN S [AIGW IE@ N1 B G | AT, A I WIS JIH0 PII-

QIEC&?IC\‘:)‘(N JHNANRQAT | A 8 B R JYTp(V -

a) butan-1-ol and methyl isopropyl ether
fTOBI -1-57eT & fAReT SRCATCATAIRT 21 |
b) butan-2-ol and diethyl ether

OB -2-9eT & G233+ 34 |



10.

11.

¢) 2-methylpropan-2-ol and diethyl ether

2- FIRATAIAN-2-TT 8 TIRRZA 2 |
d) 2-methylpropan-1-ol and methyl propyl ether

2- FURIRATAIAIN-1-2T @ 2T (A2 2
PQR is a triangle with PQ = 15 unit, QR = 25 unit, RP = 30 unit. 4, B are points on
PQ and PR respectively such that ZPBA = 2PQR . The perimeter of the triangle PAB
is 28 unit, then the length of AB is
PQR fagwiGa fOR6 A2 IAMGFW PO = 15 IFF, QR = 25 AFF ¢ RP.=30 IF |
PQ 433 PR IZH6A G Hf6 [ TAEHIN A4S B GNNSIE WTR (F2PBA = £PQR |
PAB fEQUGR AN 28 IFF (A 4B 97 (NN I -
a. 8 unit (JPP)
b. 10 unit (JPP)
c. 12 unit (4FP)
d. 25/6 unit (4FF)
If @ and f8 are roots of the quadratic equation®? + x + 1 = 0, then the equation whose
roots are o
X2 +x + 1 = 0 fREre ST 7fe A « G2 g =0, o200, 200 (F RIS TARNFIR
e o1 =4
x2+x—-1=0

200’ ﬂZOO is

®

x> +x+1=0

o

c. x2—x+1=9
d x2—x—=F=0

What isthe value of 100 [—— 4+ —— 4+ —— 4 ... + ] ?
1%X2 2X3 3X4 99%x100

100+ =+ =+t | RAAFS ?
1X2 2%X3 3x4 99x100

a. 99

b. 100

c. lies between 90 to 95 (90 (YTH 95 A V(KT TR )
d. none of these three (;ﬂi‘ oo (PICNTGIR N )



12. A sold a material to B at 10% profit. Subsequently B again sold the material to A at 10%
loss. The profit percent of A by this transaction is
A 6 BT B (F 10% S [RGT FI | 2K B WK THG A (& 10% SHforo [
] | A9 P A A9 OB &Y R -
a.10

b.9 =
c. 1
d. No loss, no gain (CRICNT e1l@ 1 Ffo Nﬁ)
13. If GCD of f(x) = x3 + cx? — x + 2c and g(x) = x? + c¢x — 2 is a linkar polynomial.
Then ¢ will be:
TR fx) =x3+cx? —x+2c AR g(x) =x2 + cx — 2 g3 TS TR BIINTS JF6
A IRAL ST ], OIRCET ¢ J7 W RS -
a)0
b) —1
c)+1
d) +1
14. Two isosceles triangles have equalwertical angles and their heights are in the ratio 7 : 8.

The ratio of their areas are:

75 STNRAIR fAQUes MY (F1T7 STV | OHH SO TATS 7 : 8 R(,
OIHY (PGP YA (T -

a)343:512

b) 512 : 343

c)49: 64

d) 64 49

15. PQRS is a circle. Other circles are drawn with PO, QO, RO and SO as diameters as
shown. Areas A and B are marked in the figure. Then A/B is equal to:



PQRS 3084 fUWTF PO, QO, RO {32 SO IS JSWfeT WHI 24 | fo g S A 8B
CHFARTA 56Z® 41 XA | O A/B I W (4 -

Q

h B
p U R

B /\B

a) Tt
b) 1
c) /4
d) 2

16. A man standing on the top of a tower sees a car moving with a uniform velocity towards the
tower. If it takes 10 minutes for the angle of depression to change from 30° to 60°, then the time

remaining for the car to reach the tower is:

I3 IS IHIB BI8TMII FTORK BT RIGTT STNCICH o JH6 NfGrs
IS AT SIIT® (MY | NS 10 fNNG STNY WSTE WINTS (_ICVL NN
30° (UTP 60° (S ARION =7 | G2 (T STNCY NSO CISAMI 0T (MY ©F TeA-

2)>°10V3 minutes

b) 5 minutes
¢) 5V3 minutes

d) 10 minutes



17. Read the following statements and chose the correct option.

fRxfafe RIS wfe 2o g3g As [RFFH @R e |

Statements ( ﬁ@ |\‘)):

I.  Neurons are considered as the shortest cells of the body.
NIV (=T pEON (1T 0T 4T 2T |
II. RBC of mammals is biconcave and nucleated.
BN (F1RS ISV [Forqost G33 NS |
III. Muscles of the iris of the eye are of involuntary types.
(BICYR IEF* BT (R T WA RF AP |

IV. Sarcomere is the structural and functional unit of striatedsmuscle fibers.

SITHTNTRCE TRY (O TI THNT® 8 PSS J5F o7 =T |
Options (RFF):

a) listrue II, IIL, IV are false
13795, 11, 101, IV

b) IIL IV are true I, II are false
I, TV 37973, 1, 11 fem

c) II, IV are true and L,IH are false
I, IV 3197, 1, LN

d) L IIL, III, IVall are true
I, 1, TIETV A@fe ey

18. RBC and a plant cell (with thick cell wall) are placed in distilled water. The solute

concentration is the same in both the cells. What changes would be observed in them?

B0 (TR® TSI (RBC) (FIF I3 OfER (FRF (VO (FFAB TH)
AIfS® Gt AT = | FfD (FIIT TRPT INg IM AN =, OF [T
oY 3 =59 A2




a) Both plant cell and RBC would not undergo any change.
G ECEREIRE (RBC) (PIF 4R GG (FICTI GO (FICAT A9 2]
Tl

b) The RBC would increase in size and burst while plant ell would remain about the

same size.
RBC WIFOT® i@ AN A2 (PG MK [FF B 7 (PIIT AWPhod (FIt
HNIITON =TI T |

c) The plant cell would increase in size and burst while RBC would remainrabout the

same size.
OfBR (FIY WFOCS I AN G2 (FI6 T [FF RBET NPHod (AT
AR R |
d) Both plant cell and RBC would decrease in size and gollapse.
BfBR (FIY I3 RBC TOTT2 WHMOCS (FBR(I 3¢ S HHS A A |
19. Common passage for swallowing food and breathing is
AR 72 YISOV SR (G =2
a) Oesophagus
SiiGeic]
b) pharynx
RGIEG|
c) glottis
2G>
d) larynx
GHIBR|

20. Acid rain happens because -

WHF IO FEN 2-
(a) Sun heats up the upper layer of the atmosphere.

ITNSTAT SAII B L TGS 1IN A AW |

(b) Burning of fossil fuels releases oxides of carbon, nitrogen and sulphur in the atmosphere



fNsofs= |

(©) Electrical charges are produced due to friction amongst clouds.
(IR T (o S ot =T |
(d) Earth atmosphere contains acids.

AT ITN ST SIG A |

21. If a hemophilic male marries a normal female, then the probability of iemophilia affected

daughter is
PG RINIfees Py IM 95 Frelle ARAH. [ FEN OIRed, ©OIthd

a) 100%
b) 50%
c) 25%
d) 0%

22. In the roots of legume plants, Rhizobia bacteria are able to perform biological nitrogen

fixation by -
IECEEREICRAVEGS
a) Converting atmospheric nitrogen to ammonia.

AYNBTEAT VRGOS SICNNATT AfGTS FI |

b) Converting atmospheric nitrogen to Nitrogen dioxide.

AYANQTE NRGTGACP VRGOS GIRAFRG AT B |

c) Converting atmospheric nitrogen to urea.
AINSTA NRHITGHCP 26O AfFTS HCA |

d) Converting nitrogen to nitrate.

RGOSR NRCHLO ARTO F(S |



23. The rapid test for detection of COVID-19 infection involves -
(PIMOG-19 ST NAH STNG FAE O T NI (rapid test) Ot (T I
O[T PRI O R¢T -

a) Detection of the viral RNA in patient sputum.

AN LJTS 12 RNA A7 TARRS g [ (74T |
b) Detection of antiviral antibodies in patient serum.

N SRS S ooz S eafsd 9 BAZS =ty BT 74 |
c) CT scan.

ARSI

d) Detection of viral antigen in patient sputum.
QN LIS 2T BTG GABS T BT (747 |
24. The elementary canal of primary consumer is longer thansecondary consumer, because-
2TAF AR (NFFAEA (N YRR (B =Y, PR -
a) primary consumers eat grass.

AT AHFAT A 41T |

b) primary consumers do not eat meat.
2NAF WA WS~ |
c) secondary consumers eat meat.

CONY AT NILSTA |

d) The statement is wrong.

I3RS AT =7 |



